= = (2016 97 209, THY : HP/F)
S & 0F X 2 3 2
=907 =20 gi ot
s Al = AL At (=) ACHREAL
ol A of 58 of S A ApEAl B 4412 Loj| e
59 10Y 92 310 315 702 1556 | 2867 | 3034 | 2130 | 990 | 3575
59 20Y 92 337 307 725 1572 | 2855 | 3072 | 2194 | 991 3033
58 302 94 361 303 743 1565 | 2869 | 3083 | 2168 | 994 | 2784
6% 10Y 91 368 300 753 1578 | 2865 | 3087 | 2161 997 | 3506
6% 202 94 386 302 773 1593 | 2890 | 3095 | 2165 | 1004 | 3000
6% 302 97 400 306 788 1602 | 2920 | 3117 | 2166 | 996 | 3290
7€ 102 - - - - = - - = - 3,220
7€ 202 95 405 324 798 1652 | 2929 | 3165 | 2114 | 1,016 | 3295
79 302 89 394 319 801 1623 | 2939 | 3157 | 2207 | 1012 | 3272
8€ 102 88 386 324 756 1633 | 2917 | 3156 | 2196 | 1,000 | 3422
8% 202 9 380 325 773 1632 | 2954 | 3181 | 2240 | 1012 | 3422
88l 30 9% 273 325 766 1636 | 2964 | 3210 | 2247 | 1016 | 3130
9% 102 97 365 319 738 1636 | 2971 | 3219 | 2245 | 1025 | 3139
9% 202 % 365 315 737 1623 | 2973 | 3228 | 2240 | 1005 | 3304
A2 SHEYHEAE T2
Lt st
(20161 9% 23, T © M)
JEX|sSE™A HASE Hegd Haedd AT
2 8 s - = HECH| (%)
('13~15.9) 15. 9 '16. 8 11~20 9. 23
A | 24(600Kkg) ot 4,557 5,599 5,862 5768 5984 69
x| 20| N 2677 3,359 3691 3751 3,666 9.1
b | oY) of 1687 2,500 2811 2,656 2,760 10.4
z 20| IS 2751 3455 3911 3834 3811 103
(Hel)|  6~78) ot 1.949 2749 3025 2914 2,893 52
e SABRENR ISy
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o 1ASE 1Bas& 25 35 455
T = (32tojat) (102tD| Bt (252to]2H) (508tn[2h (502tx11)
6% 92.7 6.3 0.9 0.1 -
20164
74 90.5 85 0.8 0.2 =
HAS7|chH| 48 0.2% 0.3% ~0.3% -0.1% -0.1%
| MMZS S MAZF M| 0] | ol
o 152 258 353 452 555
T e (208talgH (358t0/2H (508ta|aH (758t0[gH) (750t=3})
6% 64.7 323 29 0.1 0.0
2016
7 59.9 345 53 03
eS| 528 8.8% -2.9% —4.0% -1.8% -0.1%
| MiZ 1ASE |2 74| | | MM=ZS 152 K2 74| |
AH|%) Fy| F2¢ T Al 88
98 10% 70 20%
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943
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92,0,
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89.9 40 -10%
-6% Mdthy| SLF
88 MY 5L o 153 Pl
o 1§52 TuIg
86 -10% 30 -20%
8y OH 10W MY 1°2W 1§ °W 3W 48 S 6% ¥ 8% 9% 108 1y 12¥ 1% 28 3 4% 5% 6 T¥
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1 | I 1 |
(Tl &)
7 HX|ER EXER
20,476 799 21,275
21,107 727 20,380
- o 20,729 670 20,059
10 19,939 736 19,203
11e 19,644 772 18872
12¥ 20,343 775 19,568
= 18803 741 18,062
24 18747 792 19,539
3% 18,585 717 19,302
2016 4¢l 18,030 649 18679
5¢ 17,086 668 16,418
6¢ 15,297 681 15978
74 14,875 709 14,166
AR : saIgE
FAE U
71, it FHIE TAH @9l £ 212
U '16. 1-8 '15. 1-8 o H](%)
=5 Z2(A) 2(B) A 2(8") A/A B/B’
Y3el 32(01s%) 718 481 696 492 103.2% 97.8%
(L S/71E) 86 247 70 188 122.9% 131.4%
g X 2 g 13,006 26,494 13,239 37.436 982% 70.8%
3 X B g 1,867 5673 1,417 4,675 131.8% 121.3%
A S 42 185 38 70 110.5% 264.3%
£l s L= 326 1,658 317 2,048 102.8% 81.0%
HoH 2 3 143 418 95 419 150.5% 99.8%
=2 ES; 21,161 21,523 23,238 33878 91.1% 63.5%
t = 6.851 27914 4,668 19,573 146.8% 142.6%
x| = 73,296 287,603 75,051 345,780 97.7% 83.2%
= o 15,752 16,009 13,895 15,017 113.4% 106.6%
7t Al ol 1 9 2 12 50.0% 75.0%
g Al 133,249 388,214 132,726 459,588 100.4% 84.5%
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L}, Z30t, 5, HE|, 0l0|ATE =XIF
(9] - £ &7
s 16. 1~8 15, 1~8 cff H(%)
== Z2(A) Zo4(B) z(A) Z4(B") A/A’ B/B’
ZHER/AMRE 2,492 44,441 2,743 42497 90.8% 104.6%
= 8 B < 23,665 55,631 21,893 67.373 108.1% 82.6%
M B = A E 20,851 70,524 18782 70,359 111.0% 100.2%
OlO| AT R EXE 480 2,863 600 3525 80.0% 81.2%
2 2
=1 2 A
07| Y HLrkE +AUMH
A A O] AlXq
7|' -'—lJ_'—jl—l_bl =" (CH9 : E, #%)
ot '16. 1~8 "15. 1~8 ] H|(%)
Iz &
Ll Z2H(A) ZH(B) Z2HA) ZH(B") A/A B/B’
o S 33312 314,982 27,287 250,682 122.1% 125.7%
WE A T 123,082 666,361 101,555 616,974 121.2% 108.0%
= A 156,394 981,343 128,842 867,656 121.4% 113.1%
a2 B
L & B4 ¢ AN @9l & B
ol "6, 1~8 15, 1~8 ch H](%)
THS
o= =
. Z2HA) ZU(B) B2HA) 2(B) A/N B/B’
M2 (Y E) 2211 21,444 2147 19.822 103.0% 108.2%
5 0 2 0 0 - -
1] =l 2,728 16,401 2,950 21,349 925% 76.8%
= 1135 1738 684 1,266 165.9% 137.3%
A o & 3,264 4716 1,741 2,907 187.5% 162.2%
7 E} 19,801 93472 19,611 95,936 101.0% 97.4%
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